



City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

File N	umber	Title		State	ıs						
R-20	011-0108	Resolution Introduced									
MMITTER	E RECOMN	Resolution to appregutter, concrete parelay, storm sewer adjustments in W. amount of \$445,13 Introduced: 4/19/20	vement, miscella relay, storm sew Lapham St. from 8.80.	neous walk repa er, water main re S. 73rd St. to S. Cont	ir, driveway i elay, water m 76 St. within	replacement, sanit ain, building serv	ary sewer ices and utility t Allis, in the				
IVALVALIA RESI	RECOM	Lindarion _	- Cap								
ELON	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSEI				
ΓΙΟΝ ΓΕ:			Barczak Czaplewski	1							
E.			Kopplin	V							
1/2011			Lajsic								
			Narlock								
			Reinke	•							
			Roadt Sengstock	Exchal			/				
			Vitale	Exterior							
	-		Weigel	/							
			TOTAL	4			1				
Langir	A Da	Vice-	Chair		Memb	per					
MMON C	OUNCIL A		Adopt								
	MOVER	SECONDER	Describ	AYE	NO	PRESENT	EXCUSE				
TION			Barczak								
			Czanlewski	the state of the s							
ГЕ:			Czaplewski Kopplin								
ГЕ:			Kopplin Lajsic	V							
ГЕ:			Kopplin Lajsic Narlock	~							
ГЕ:			Kopplin Lajsic Narlock Reinke								
TE:			Kopplin Lajsic Narlock Reinke Roadt								
TE:			Kopplin Lajsic Narlock Reinke								
ГЕ:			Kopplin Lajsic Narlock Reinke Roadt Sengstock								
TION TE: -/9-//			Kopplin Lajsic Narlock Reinke Roadt Sengstock								



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2011-0108

Final Action: APR 1 9 2011

Sponsor(s):

Public Works Committee

Resolution to approve bid of Rawson Contractors, Inc. for the installation of concrete curb and gutter, concrete pavement, miscellaneous walk repair, driveway replacement, sanitary sewer relay, storm sewer relay, storm sewer, water main relay, water main, building services and utility adjustments in W. Lapham St. from S. 73rd St. to S. 76 St. within the City of West Allis, in the amount of \$445,138.80.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Rawson Contractors, Inc. for 2011 Project No. 8 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Rawson Contractors, Inc. for 2011 Project No. 8 for:

installation of concrete curb and gutter, concrete pavement, miscellaneous walk repair, driveway replacement, sanitary sewer relay, storm sewer relay, storm sewer, water main relay, water main, building services and utility adjustments in:

West Lapham Street from S. 73rd Street to S. 76th Street

(PLAN FILE NOS. SP-1165, U2516, W1296)

for the sum of Four Hundred Forty-five Thousand One Hundred Thirty-eight and 80/100 dollars (\$445,138.80)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds, Storm Water Management Funds, Water Utility Funds, Bond Funds, Clean Water Fund Program and Funds from Special Assessments.

ADOPTED

APR 1 9 2011

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

4/25/11

Dan Devine, Mayor

City of West Allis 2011 Project No. 8 Bid Opening - 4/14/11

STREET CONSTRUCTION, SANITARY SEWER RELAY, STORM SEWER RELAY, STORM SEWER WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES, UTILITY ADJUSTMENTS

West Lapham Street from South 73rd Street to South 76th Street

		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		
									Willkomm Excavating &	
			Rawson Contractors, Inc.		Mainline Sewer & Water		LaLonde Contractors, Inc.		Grading, Inc.	
			N48 W22953 Commerce Centre Dr.		11430 W. Bluemound Rd., #109		P.O. Box 070420		17108 County Line Rd.	
			Pewaukee, WI 53072		Wauwatosa, WI 53226		Milwaukee, WI 53207		Union Grove, WI 53182	
ITEM	UNITS		PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 Excavation	875	Cu. Yds.	\$25.00	21,875.00	15.00	13,125.00	15.00	13,125.00	35.22	30,817.50
2 Borrow Excavation	68	Cu. Yds.	\$1.00	68.00	10.00	680.00	15.00	1,020.00	34.12	2,320.16
3 Sodding	2,270	Sq. Yds.	\$8.00	18,160.00	7.75	17,592.50	5.95	13,506.50	6.06	13,756.20
4 Asphalt/Concrete Sawing	260	Lin. Ft.	\$2.00	520.00	2.25	585.00	2.00	520.00	2.04	530.40
5 Walk & Drive Removal	9,010	Sq. Ft.	\$0.50	4,505.00	0.60	5,406.00	0.55	4,955.50	1.88	16,938.80
6 Curb Removal	1,680	Lin. Ft.	\$6.34	10,651.20	3.50	5,880.00	4.00	6,720.00	3.53	5,930.40
7 Pavement Removal	720	Sq. Yds.	\$6.23	4,485.60	4.50	3,240.00	5.00	3,600.00	16.12	11,606.40
8 Asphalt Surface Removal	160	Sq. Ýds.	\$15.00	2,400.00	6.00	960.00	5.00	800.00	4.53	724.80
9 5" Concrete Sidewalk	5,910	Sq. Ft.	\$4.10	24,231.00	3.45	20,389.50	3.50	20,685.00	3.57	21,098.70
10 7" Concrete Walk & Drive	2,970	Sq. Ft.	\$4.30	12,771.00	3.95	11,731.50	4.20	12,474.00	4.08	12,117.60
11 Concrete Riser	110	Lin. Ft.	\$30.00	3,300.00	34.50	3,795.00	40.00	4,400.00	40.80	4,488.00
12 Curb Ramp Detectable Warning Field	56	Sq. Ft.	\$38.00	2,128.00	36.00	2,016.00	40.00	2,240.00	33.66	1,884.96
13 31" Concrete Curb and Gutter	1,680	Lin. Ft.	\$14.00	23,520.00	11.60	19,488.00	14.00	23,520.00	13.00	21,840.00
14 7" Concrete Pavement	2,840	Sq. Yds.	\$27.40	77,816.00	30.00	85,200.00	28.00	79,520.00	30.60	86,904.00
15 7" Concrete Alley Pavement	50	Sq. Yds.	\$33.00	1,650.00	36.50	1,825.00	50.00	2,500.00	35.70	1,785.00
16 8" Concrete Base	370	Sq. Yds.	\$25.00	9,250.00	34.50	12,765.00	28.00	10,360.00	28.56	10,567.20
17 Pavement Ties	170	Each	\$10.00	1,700.00	6.00	1,020.00	8.00	1,360.00	7.14	1,213.80
18 4" Underdrain, Complete	230	Lin. Ft.	\$25.00	5,750.00	15.00	3,450.00	20.00	4,600.00	30.00	6,900.00
19 Base Aggregate Dense, 1-1/4"	910	Tons	\$15.00	13,650.00	11.60	10,556.00	14.00	12,740.00	15.30	13,923.00
20 Tack Coat	15	Gallons	\$10.00	150.00	20.00	300.00	5.00	75.00	5.10	76.50
21 HMA Pavement (Type E-0.3)	25	Tons	\$200.00	5,000.00	183.00	4,575.00	190.00	4,750.00	199.50	4,987.50
22 Installing Conduit, Underground	1,442	Lin. Ft.	\$6.50	9,373.00	22.85	32,949.70	22.50	32,445.00	6.86	9,892.12

City of West Allis 2011 Project No. 8 Bid Opening - 4/14/11

STREET CONSTRUCTION, SANITARY SEWER RELAY, STORM SEWER RELAY, STORM SEWER WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES, UTILITY ADJUSTMENTS

West Lapham Street from South 73rd Street to South 76th Street

			Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
									Willkomm Excavating &	
			Rawson Contractors, Inc.		Mainline Sewer & Water		LaLonde Contractors, Inc.		Grading, Inc.	
			N48 W22953 Commerce Centre Dr.		11430 W. Bluemound Rd., #109		P.O. Box 070420		17108 County Line Rd.	
			Pewaukee, WI 53072		Wauwatosa, WI 53226		Milwaukee, WI 53207		Union Grove, WI 53182	
ITEM	UNITS		PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
23 18" Dia. Storm Sewer Relay	37	Lin. Ft.	\$85.00	3,145.00	84.00	3,108.00	84.00	3,108.00	80.00	2,960.00
24 15" Dia. Storm Sewer Relay	274	Lin. Ft.	\$77.50	21,235.00	82.00	22,468.00	82.00	22,468.00	59.00	16,166.00
25 15" Dia. Storm Sewer	153	Lin. Ft.	\$87.00	13,311.00	75.00	11,475.00	75.00	11,475.00	57.00	8,721.00
26 12" Dia. Storm Sewer Relay	57	Lin. Ft.	\$62.50	3,562.50	69.00	3,933.00	69.00	3,933.00	65.00	3,705.00
27 12" Dia. Storm Sewer	183	Lin. Ft.	\$75.50	13,816.50	68.00	12,444.00	68.00	12,444.00	57.00	10,431.00
28 6" Dia. Building Storm Sewer (9)	110	Lin. Ft.	\$53.00	5,830.00	78.00	8,580.00	78.00	8,580.00	96.00	10,560.00
29 Reconnect 6" Dia. Building Storm Sewer	1	Unit	\$600.00	600.00	495.00	495.00	495.00	495.00	664.00	664.00
30 3'-6" Dia. Storm Manhole (7)	34	Vert. Ft.	\$275.00	9,350.00	305.00	10,370.00	305.00	10,370.00	375.00	12,750.00
31 Catch Basin	11	Units	\$1,350.00	14,850.00	1,070.00	11,770.00	1,070.00	11,770.00	1,488.00	16,368.00
32 Cut-In Underdrain Connection	1	Unit	\$250.00	250.00	185.00	185.00	185.00	185.00	241.00	241.00
33 Storm Manhole Abandonment	2	Units	\$350.00	700.00	225.00	450.00	225.00	450.00	1,135.00	2,270.00
34 Catch Basin Abandonment	2	Units	\$350.00	700.00	150.00	300.00	150.00	300.00	668.00	1,336.00
35 8" Dia. Sanitary Sewer Relay	40	Lin. Ft.	\$130.00	5,200.00	192.00	7,680.00	192.00	7,680.00	213.00	8,520.00
36 3'-6" Dia. Sanitary Manhole (1)	9	Vert. Ft.	\$180.00	1,620.00	325.00	2,925.00	325.00	2,925.00	431.00	3,879.00
37 6" Dia. Building Sanitary Sewer (5)	140	Lin. Ft.	\$82.00	11,480.00	111.00	15,540.00	111.00	15,540.00	95.00	13,300.00
38 Install Internal Sanitary Manhole Seals	2	Units	\$300.00	600.00	190.00	380.00	190.00	380.00	224.00	448.00
39 6" D.I.W.M., Class 53 (R.G.J.)	261	Lin. Ft.	\$110.00	28,710.00	91.00	23,751.00	91.00	23,751.00	97.00	25,317.00
40 6" D.I.W.M. (Relay), Class 53 (R.G.J.)	305	Lin. Ft.	\$75.00	22,875.00	92.00	28,060.00	92.00	28,060.00	97.00	29,585.00
41 1" Copper Water Service (4)	20	Lin. Ft.	\$335.00	6,700.00	411.00	8,220.00	411.00	8,220.00	339.00	6,780.00
42 6" Valve	1	Units	\$200.00	200.00	175.00	175.00	175.00	175.00	158.00	158.00
43 6" Water Main Connection	1	Units	\$4,500.00	4,500.00	7,950.00	7,950.00	7,950.00	7,950.00	4,235.00	4,235.00
44 6" Water Main Alteration	1	Unit	\$12,000.00	12,000.00	15,900.00	15,900.00	15,900.00	15,900.00	17,994.00	17,994.00

City of West Allis 2011 Project No. 8 Bid Opening - 4/14/11

STREET CONSTRUCTION, SANITARY SEWER RELAY, STORM SEWER RELAY, STORM SEWER WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES, UTILITY ADJUSTMENTS

West Lapham Street from South 73rd Street to South 76th Street

			Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
									Willkomm Excavating &	
			Rawson Contractors, Inc.		Mainline Sewer & Water		LaLonde Contractors, Inc.		Grading, Inc.	
			N48 W22953 Commerce Centre Dr.		11430 W. Bluemound Rd., #109		P.O. Box 070420		17108 County Line Rd.	
			Pewaukee, \	NI 53072	Wauwatosa, WI 53226		Milwaukee, WI 53207		Union Grove, WI 5318	
ITEM		UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
45 Adjust Catch Basin Frames	11	Each	\$275.00	3,025.00	270.00	2,970.00	270.00	2,970.00	618.00	6,798.00
46 Adjust Storm Manhole Frames	9	Each	\$275.00	2,475.00	280.00	2,520.00	280.00	2,520.00	618.00	5,562.00
47 Adjust Sanitary Manhole Frames 2 Each		\$275.00	550.00	280.00	560.00	280.00	560.00	618.00	1,236.00	
48 Adjust Water Valve Box 4 Each		Each	\$150.00	600.00	100.00	400.00	100.00	400.00	260.00	1,040.00
49 Inlet Protection Barriers	25	Units	\$50.00	1,250.00	25.00	625.00	50.00	1,250.00	65.00	1,625.00
50 Manhole Protection Barriers	11	Units	\$50.00	550.00	50.00	550.00	100.00	1,100.00	175.00	1,925.00
51 Traffic Control	1	Lump Sum	\$2,500.00	2,500.00	2,550.00	2,550.00	40,000.00	40,000.00	12,000.00	12,000.00
Total			445,138.80		463,863.20		500,875.00		506,877.04	